Wildlife
Compensation
Program Example

Example:

5 acres of winter feed wheat damaged
by geese in the spring. Inspection
determines that 50% of the crop was
damaged in the affected area.

Calculated compensation:

5 acres X 50% damage = 2.5 acres
damaged.

2.5 acres X 4193 kg/acre (provincial
average) = 10,483 kg of loss (10.483t)

10.483t X $325/t X 80% = $2,725.5

Example

2 ewes are reported lost due to
wildlife predation.

Inspection confirms that the loss was
caused by coyotes.

Calculated compensation:

2 ewes X $200 X 80% = $320.00




